
horsepower
p < 0.001

1

≤ 112 > 112
horsepower
p < 0.001

2

≤ 61 > 61
weight

p < 0.001

3

≤ 1834> 1834

Node 4 (n = 12)

10
20

Node 5 (n = 18)

10
20

weight
p < 0.001

6

≤ 2945 > 2945
horsepower
p < 0.001

7

≤ 89> 89

Node 8 (n = 204)

10
20

horsepower
p = 0.046

9

≤ 95 > 95

Node 10 (n = 44)

10
20

weight
p = 0.034

11

≤ 2725> 2725
horsepower
p = 0.024

12

≤ 97> 97

Node 13 (n = 15)

10
20

Node 14 (n = 13)

10
20

Node 15 (n = 24)

10
20

horsepower
p < 0.001

16

≤ 80 > 80

Node 17 (n = 13)

10
20

weight
p = 0.003

18

≤ 3415> 3415
horsepower
p < 0.001

19

≤ 95> 95
cylinders
p = 0.007

20

≤ 4> 4

Node 21 (n = 8)

10
20

Node 22 (n = 30)

10
20

Node 23 (n = 28)

10
20

Node 24 (n = 35)

10
20

horsepower
p < 0.001

25

≤ 158 > 158
weight

p = 0.002

26

≤ 3777> 3777
engine.displacement

p = 0.007

27

≤ 267> 267
weight

p = 0.015

28

≤ 2930> 2930

Node 29 (n = 13)

10
20

Node 30 (n = 8)

10
20

Node 31 (n = 26)

10
20

engine.displacement
p < 0.001

32

≤ 302> 302

Node 33 (n = 13)

10
20

Node 34 (n = 62)

10
20

engine.displacement
p < 0.001

35

≤ 318> 318

Node 36 (n = 7)

10
20

weight
p = 0.004

37

≤ 4354> 4354
engine.displacement

p = 0.046

38

≤ 360> 360

Node 39 (n = 15)

10
20

Node 40 (n = 15)

10
20

engine.displacement
p < 0.001

41

≤ 400> 400

Node 42 (n = 20)

10
20

Node 43 (n = 9)

10
20


